AMENDMENT NO.

This Amendment dated effective <u>May 7, 2024</u>, (the "Effective Date") is attached to and incorporated into that certain Agreement to provide <u>Dual Credit</u> services dated <u>April 11, 2024</u>, (the "agreement") executed by and between The University of Texas at Tyler and <u>UT Tyler University</u> <u>Academy</u>. Only those items specifically defined herein shall be amended; all other terms and conditions of the Agreement shall be maintained.

Appendix A: University Academy Courses and Delivery methods:

College Course	High School Equivalent Course	College Credit Hours	Tuition	Duration of course	Delivery Method*
ENGL 1301	College Composition I	3	\$99 per credit hour (\$297, total)	Summer 2024	3
ENGL 2322	English Literature to the 1780's	3	\$99 per credit hour (\$297, total)	Summer 2024	3
ENGL 1302	College Composition II	3	\$99 per credit hour (\$297, total)	Summer 2024	3
ENGL 2363	World Lit from the Renaissance	3	\$99 per credit hour (\$297, total)	Summer 2024	3
HIST 1301	US History I	3	\$99 per credit hour (\$297, total)	Fall 2024	2
ENGL 1301	College Composition I	3	\$99 per credit hour (\$297, total)	Fall 2024	1
ENGL 1302	College Composition II	3	\$99 per credit hour (\$297, total)	Fall 2024	1
POLS 2305	Introductory American Government	3	\$99 per credit hour (\$297, total)	Fall 2024	2
MATH 1342	Statistics I	3	\$99 per credit hour (\$297, total)	Fall 2024	1
CHEM 1311	General Chemistry I	3	\$99 per credit hour (\$297, total)	Fall 2024	3
CHEM 1111	General Chemistry I Lab	1	\$99 per credit hour (\$99, total)	Fall 2024	3

ART 1301	Introduction to Art	3	\$99 per credit hour (\$297, total)	Spring 2025	1
HIST 1302	US History II	3	\$99 per credit hour (\$297, total)	Spring 2025	2
ENGL 2323	English Lit from the 1780's to Present	3	\$99 per credit hour (\$297, total)	Spring 2025	1
ENGL 2363	World Lit from the Renaissance	3	\$99 per credit hour (\$297, total)	Spring 2025	1
ECON 1301	Intro to Economics	3	\$99 per credit hour (\$297, total)	Spring 2025	2
MATH 2413	Calculus I	4	\$99 per credit hour (\$396 total)	Spring 2025	1
MATH 2312	Pre-Calculus	3	\$99 per credit hour (\$297, total)	Spring 2025	1
PSYC 1301	Intro to Psychology	3	\$99 per credit hour (\$297, total)	Spring 2025	2
PHYS 1303	Intro to Astronomy	3	\$99 per credit hour (\$297, total)	Spring 2025	2
POLS 2306	Introductory Texas Politics	3	\$99 per credit hour (\$297, total)	Spring 2025	2

Delivery Methods

High School Campus: A credentialed high school instructor teaches the course on the high school campus and serves as the Instructor of Record. These courses are offered during Fall, Spring, or Year-Long terms. Some courses could be available during Summer terms. See Tuition, Fees, and Financial Responsibility section above for a description of the financial model.

Online or Hybrid Dual Credit (UT Tyler faculty): Online or hybrid dual credit course taught at the high school with UT Tyler faculty as instructor of record and high school teacher as facilitator/coach. This method also includes hybrid courses with online content and face-to- face requirements at either high school or college campus. These courses are offered in Fall, Spring, or Year-Long terms. Some courses

could be available online during Summer terms.

UT Tyler Campus (UT Tyler Faculty): A UT Tyler faculty member serves as the Instructor of Record on UT Tyler's campus and students are responsible for reporting to the location for class meetings.

shall be amended to read:

Appendix A: University Academy Courses and Delivery Methods:

College Course	High School Equivalent Course	College Credit Hours	Tuition	Duration of course	Delivery Method*
ENGL 1301	College Composition I	3	\$99 per credit hour (\$297, total)	Summer 2024	3
ENGL 2322	English Literature to the 1780's	3	\$99 per credit hour (\$297, total)	Summer 2024	3
ENGL 1302	College Composition II	3	\$99 per credit hour (\$297, total)	Summer 2024	3
ENGL 2363	World Lit from the Renaissance	3	\$99 per credit hour (\$297, total)	Summer 2024	3
HIST 1301	US History I	3	\$99 per credit hour (\$297, total)	Fall 2024	2
ENGL 1301	College Composition I	3	\$99 per credit hour (\$297, total)	Fall 2024	1
ENGL 1302	College Composition II	3	\$99 per credit hour (\$297, total)	Fall 2024	1
POLS 2305	Introductory American Government	3	\$99 per credit hour (\$297, total)	Fall 2024	2
MATH 1342	Statistics I	3	\$99 per credit hour (\$297, total)	Fall 2024	1
CHEM 1311	General Chemistry I	3	\$99 per credit hour (\$297, total)	Fall 2024	3
CHEM 1111	General Chemistry I Lab	1	\$99 per credit hour (\$99, total)	Fall 2024	3
ART 1301	Introduction to Art	3	\$99 per credit hour (\$297, total)	Fall 2024	1

ART 1301	Introduction to Art	3	\$99 per credit hour (\$297, total)	Spring 2025	1
HIST 1302	US History II	3	\$99 per credit hour (\$297, total)	Spring 2025	2
ENGL 2323	English Lit from the 1780's to Present	3	\$99 per credit hour (\$297, total)	Spring 2025	1
ENGL 2363	World Lit from the Renaissance	3	\$99 per credit hour (\$297, total)	Spring 2025	1
ECON 1301	Intro to Economics	3	\$99 per credit hour (\$297, total)	Spring 2025	2
MATH 2413	Calculus I	4	\$99 per credit hour (\$396 total)	Spring 2025	1
MATH 2312	Pre-Calculus	3	\$99 per credit hour (\$297, total)	Spring 2025	1
PSYC 1301	Intro to Psychology	3	\$99 per credit hour (\$297, total)	Spring 2025	2
PHYS 1303	Intro to Astronomy	3	\$99 per credit hour (\$297, total)	Spring 2025	2
POLS 2306	Introductory Texas Politics	3	\$99 per credit hour (\$297, total)	Spring 2025	2

Delivery Methods

High School Campus: A credentialed high school instructor teaches the course on the high school campus and serves as the Instructor of Record. These courses are offered during Fall, Spring, or Year-Long terms. Some courses could be available during Summer terms. See Tuition, Fees, and Financial Responsibility section above for a description of the financial model.

Online or Hybrid Dual Credit (UT Tyler faculty): Online or hybrid dual credit course taught at the high school with UT Tyler faculty as instructor of record and high school teacher as facilitator/coach. This method also includes hybrid courses with online content and face-to- face requirements at either high school or college campus. These courses are offered in Fall, Spring, or Year-Long terms. Some courses

could be available online during Summer terms.

UT Tyler Campus (UT Tyler Faculty): A UT Tyler faculty member serves as the Instructor of Record on UT Tyler's campus and students are responsible for reporting to the location for class meetings.

Accepted and Agreed to by University and High School as of the Effective Date:

UNIVERSITY:

The University of Texas at Tyler

Name:

Dr. Amir Mirmiran

Title: Provost, EVPAcademicAffairs Provost and EVP for Academic Affairs

5/18/2024 Date: HIGH SCHOOL: UT Tyler University Academy

Name: Jo lun Simmons

Dr. Jo Ann Simmons

Superintendent

Title: University Academy Superintendent 5/18/2024

Date:_____